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01 Al 221 54,690 54,690 0
Ood=zZnz 330,000 »170H 2 5,610
OLE > (EH) 60,000 113 6,780
O=Zg(BH) 60,000 »365 21,900
OAMRI1J] 2L (SH) 220,000 «4H & *128 10,560
ORVEA=EZ(BH) 200,000 x2H 128 4,800
OJIEt ARS8 L 2YHI(ZH) 5,040,000 5,040
=323l 71,900 57,100 14,800
OssUH 250,000 = 14CH«12& 42,000
O=EX& ==cltl 400,000& = 14CH 5,600
OXsxt 3N RE= 500,000& x13] 500
ONsi Ega 750,000& = 14H 10,500
OXtS XHA 150,000& = 14CH 2,100
O&LHEHl R X2 =4l 10,000,000& *1JH £ 10,000
OfEE 282 300& *4,0000H 1,200
04 i 16,200 18,300 A2,100
=L 10,200 10,500 A 300
OsgJIgXs g2 FI (W)
400,000& x 18 128 4,800
OsEXNE 22 FI(BH)
300,000 x 18 128 3,600
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